ECHNICAL INFORMATION

'/I!‘!,A!A!! l

56594

Subj ect » Change of Hex.Socket Head Bolt M6X30
=610\ es (=55 > HR5001C(50mm Rotary Hammer)

> Asillustrated below, Hex.Socket Head Bolt M6X30 has been changed.

Hex.Socket Head Bolt M6X30

» Current

> New

Flat washer isincluded.

(&0

Flat Washer 6 Spring Washer Flat Washer 6  Spring Washer
I nter changeability(1/C)
Item No. Current part Price |Q'ty New part Price |Q'ty|1/C Note
103 | Hex.Socket Head Bolt M6X 30 6 IHex.Socket Head Bolt M6X30 | 6 | No
922351-0 922353-6 Interchangeable
142 [Flat Washer 6| 6 b ] asa st
941152-7

Implementation

HR5001C:From serial No.7315E(Aug.,1998)




